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1 ��%& $ 51232-98 �>44 ?<FL564O. �5M<5 FD55>64=<O > >D74=<74F<< < <5F>44< 
>>=FD>?O >4G5EF64:  6654U= 6 45=EF6<5 �>EF4=>6?5=<5< �>EEF4=44DF4 $>EE<< >F 
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�46?<=>64, �. �. �465=>6. 4 6-5 <74., ?5D5D45. < 4>?. 4 �>E>64 : �744F5?LEF6> 
.D4=F, 2025. 4 462 E. 4 (�D>D5EE<>=4?L=>5 >5D47>64=<5). 4 ISBN 978-5-534-
20262-5. 4 &5>EF : M?5>FD>==O= // �5D47>64F5?L=4O ??4FD>D<4 .D4=F [E4=F]. 4 
URL: https://www.urait.ru/bcode/562152 (44F4 >5D4M5=<O: 26.05.2025). 
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https://www.urait.ru/bcode/565695 (44F4 >5D4M5=<O: 10.03.2025). 
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�744F5?LEF6> .D4=F, 2025. 4 139 E. 4 (�D>D5EE<>=4?L=>5 >5D47>64=<5). 4 
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.D4=F, 2024. 4 121 E. 4 (�D>D5EE<>=4?L=>5 >5D47>64=<5). 4 ISBN 978-5-534-
19007-6. 4 &5>EF : M?5>FD>==O= // �5D47>64F5?L=4O ??4FD>D<4 .D4=F [E4=F]. 4 
URL: https://urait.ru/bcode/555724 (44F4 >5D4M5=<O: 16.04.2025). 
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ISBN 978-5-8114-9184-1. 4 &5>EF : M?5>FD>==O= // �4=L : M?5>FD>==>-
5<5?<>F5G=4O E<EF5<4. 4 URL: https://e.lanbook.com/book/187799 (44F4 
>5D4M5=<O: 10.03.2025). 

11 %>?LE><=, %. �. �=65=5D=4O <5?<>D4F<O : GG55=>5 ?>E>5<5 4?O E?> / %. �. 
%>?LE><=, %. .. �445=>>, �. �. �>D7G=>6. 4 2-5 <74., EF5D. 4 %4=>F-�5F5D5GD7 
: �4=L, 2022. 4 248 E. 4 ISBN 978-5-8114-8983-1. 4 &5>EF : M?5>FD>==O= // 
�4=L : M?5>FD>==>-5<5?<>F5G=4O E<EF5<4. 4 URL: 
https://e.lanbook.com/book/186045 (44F4 >5D4M5=<O: 10.03.2025). 
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$>EE<=E>>= 4>445<<< =4G>.  - �>E>64: ��& "�>445<<O"  1993  3 . 3 �OE>4<F 6 
D47 6 7>4. 3 IS�N ?5G4F=>= 65DE<< 0869-7809. 3 &5>EF : M?5>FD>==O=  // -�% 
elibrary [E4=F]. 4 URL : https://elibrary.ru/contents.asp?id=49897758 (44F4 
>5D4M5=<O: 15.03.2025). 

13 �5>M>>?>7<O, <=65=5D=4O 75>?>7<O, 7<4D>75>?>7<O, 75>D<D<>?>7<O: =4GG=O= 
6GD=4? /GGD54<F5?< $��(�>E>64); =EF<FGF 75>M>>?>7<< <<. �.�. %5D75564 
$>EE<=E>>= 4>445<<< =4G>.  - �>E>64: ��& "�>445<<O"  1993  3 . 3 �OE>4<F 6 
D47 6 7>4. 3 IS�N ?5G4F=>= 65DE<< 0869-7809. 3 &5>EF : M?5>FD>==O=  // -�% 
elibrary [E4=F]. 4 URL : https://elibrary.ru/contents.asp?id=49897758 (44F4 
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%5D7> �D46>=<><475. 3 �>E>64 : 1958  4 .4 �OE>4<F 6 D47 6 7>4. 3 ISBN 
?5G4F=>= 65DE<< 0016-7762. 3  ISBN >=?4==>6>= 65DE<< 2618-8708 . 3 &5>EF : 
M?5>FD>==O=  // -�% elibrary [E4=F]. 4 URL : 
https://elibrary.ru/contents.asp?id=80260996 (44F4 >5D4M5=<O: 06.02.2025). 
 // ��$� [E4=F]. 4 URL: https://www.geology-mgri.ru/jour/issue/current (44F4 
>5D4M5=<O : 06.02.2025). 

15 �>D=O= 6GD=4?: =4GG=>-F5E=<G5E><= <  ?D><76>4EF65==O= 6GD=4? /  GGD54<F5?L 
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�=4=<O: 
- >E=>6=O5 <EF>G=<>< <=D>D<4F<< < 
D5EGDEO 4?O D5L5=<O 7444G 
E6O74==OE E 6>4>E=4565=<5< < 
<5?<>D4F<5=; 
- 4?7>D<F<O 6O?>?=5=<O D45>F 
E6O74==OE E 6>4>?>47>F>6>>= < 
6>4>>F6545=<5<; 

- >E=>6=O5 EE5<O 
E<EF5< 6>4>E=4565=<O, ?>475<=OE < 
?>65DE=>EF=OE 6>4>745>D>6; 
- EE5<O FD4=E?>DF<D>64=<O < 
D4E?D545?5=<O 6>4O, 7>=<D>64=<5 
E<EF5< 6>4>E=4565=<O; 
- 6<4O, E?>E>5O < EE5<O 
<5?<>D4F<=; 
-  >E=>6=O5 6<4O >D>L5=<O, 
>EGL5=<O 6<4O < E?>E>5O 
?D>F<6>MD>7<>==>= <5?<>D4F<< < 
D5>G?LF<64F<<; 
- >E=>6=O5 E?>E>5O < EE5<O 
E>>DG65=<O 7>= E4=<F4D=>= 
>ED4=O < D56<<=OE =45?N45=<=. 
 

 

�>?=>F4 7=4=<= (>5N5< 
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>E>7=4==>EFL 7=4=<= 
(6O45?5=<5 6 <4F5D<4?5 
7?46=>7>, <E?>?L7>64=<5 
?D<5<>6 4=4?<74, ED46=5=<O, 
>5>5M5=<O, <7?>65=<O 7=4=<= 
E6><<< E?>64<<, ?D<6545=<5 
?D<<5D>6, 4>>474F5?LEF64); 
45=EF65==>EFL 7=4=<= 
(7>F>6=>EFL ?>?L7>64FLEO <<< 
?D< D5L5=<< 7444G, ?D<<5D>6, 
6O?>?=5=<< G?D46=5=<=, 
FDG4>6OE 7444=<=, 
?45>D4F>D=OE D45>F, >?OF>6); 
 ?D>G=>EFL 7=4=<= (7>F>6=>EFL 
6>E?D><76>4<FL EGM5EF65==O5 
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< 6O45?OFL 5U E>EF46=O5 G4EF<;  
- >?D545?OFL =5>5E>4<<O5 <EF>G=<>< 
<=D>D<4F<< ?>76>?ONM<5 6O5<D4FL 
<EF>G=<>< 6>4>E=4565=<O, D4F<>=4?L=> 
<E <E?>?L7>64FL < >ED4=OFL >F 
747DO7=5=<O 

�5<>=EFD<D>64FL  ?D>G=>EFL 
G<5=<= < =46O>>6  
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F5?< 45OF5?L=>EF<;  
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->E?5DF=>5 
=45?N45=<5. 
->74<5=. 
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45<>=EFD<D>64FL G<5=<5 
?D>6>4<FL 
7<4D>75>?>7<G5E><5 
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